: (40%)
1.1 for (y=.1; y!'=1.0; y+=.1)
printf( " %f\n".y);

1.2 intsum(int x, inty)
{

int result;
result=x+y;

1.3 printf("%s’,’a);

1.4 In C++, assume the following prototype is declared in class Employee:
in Employee(const char *, const char *);

1.5 In C++, the following statement should print the integer value of 'c’:
cout <<'cC’;

(Fibonacci Sequence) 20%
2.1 Fib(0) =0
2.2 Fib(1) =1
2.3 Fib(n) = Fib(n-1)+Fib(n-2)

3*3 20%
8 6 3 5 6 3
8 7 9 6 8 6
5 3 4 9 5 2

20%
{ 8, 6,56, 3, 8, 66, 32, 78, 3, 6, 45, 55, 77, 44, 33}



